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1) What is the gradient of line AB

   A(-2,-2)   B(4,2) 

2) What is the length of line AB

3) Find the coordinates of the 

     midpoint of line AB

4) Find the equation of line AB

5) Write the equation in the form 

    ax + by + c = 0

6) Sketch a line parallel to line AB

     which passes through the point (-3,2)
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         Parallel lines have the same gradient
1) Are the lines   
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   and   
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   parallel?

2) Find the equation of the line parallel to 
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 which passes through the point (3,5)

3) Given the vertices of a triangle are A(2,4) B(-1,5) C(-3,-5) find the equation of the line parallel to side AB which passes through point C



    Perpendicular lines have gradients which multiplying to -1


Each gradient is the negative 

reciprocal of the other

1) Are the lines   
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   perpendicular?

2) Find the equation of the line perpendicular to 
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 which passes through the point (3,4)

3) Given the vertices of a triangle are A(-4,1) B(3,3) C(1,6) find the equation of the mediator (perpendicular bisector) of side AC


   A(-3,1)   B(1,-2)   C(3,4)

1) What is the length of line AB

2) Find the equation of line AC
3) Find the coordinates of the 

     midpoint of line BC
4) Write the equation of the line

     parallel to side BC which passes
     through point A

5) Write the equation of the 

     perpendicular bisector of side BC
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Parallel lines
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